ok )] i RS

FACE MILLING CUTTERS

)] & RS

FACE MILLING CUTTERS




AR URTIERY
FACE MILL

EREET] FACE MILL

UB 15 163|122 | 5T

A

L

BAP 400R || 50 |22 || 4T

H

it TNREABRS || TR || REILEF | TH

Type Insert specification code Flute Inner diameter No. of
diameter flutes

AM%EJ] END MILL
AHU 10 16|X| 160 [~
BAP 300R [13|x]/120 |1 CG12

g

L xm || apmmrs || or| | ak| | ®e| | ng-8%, Beazx

Type Insert specification code Flute Overal | Shank Flute-Dia=Shank-Dia,
diameter length diameter shank-Dia ignore
| T217.69 |- 08]|06 || 06A | | 7239 || 4R |x| 110 || c10 |
(%8 | | &z || e | | nE#sgrs | | %8 || nemmis || &k | [ B2 ]
Type Shank Flute Insert specification code Type Insert specification code Overal | Shank
diameter diameter length diameter
5 Features:
OFXAMEET AMWIME © Use antiknock tool steel.
© Overall pre-hard first,then fine processing,avoid transformation when
ORGFER, BITHE, BRIRMI~EEHR proceed twice.



BAP/TAP-90° Efi BRI # I

BAP/TAP-90° RIGHT ANGLE SHOULDER FAGCE MILL CUTTERS

. |
OTifeiRT: BRBEMIRETIR RAP TR TEREGER

© Energy saving: please keep your scrap inserts RAP-

¢ did 8
W

$D g3

75° ,shell-shaped milling cutter can be used.

BT mmT || SEMT | TN | aMEmMI|| mT
Piane finishing Roughing Pocket mi | ling Sloot. plunge milling  Shoulder milling Copy milling
g | S Model 5 d m RTJ‘V\?ue(me) 2 TEEKGS 71K Insert 12$T Screw | #R3F Wrench
BAP300R-40-16-4T 40 | 16 |40] 8.4 |63 | 9 0.35 | APMT1135PDER | M2.5%6 T8
BAP300R-50-22-4T 50 | 22 |[50] 104 | 63| 9 0.4 APMT1135PDER | M2.5%6 T8
BAP300R-63-22-5T 63 | 22 |50] 104 | 63| 9 0.65 | APMT1135PDER | M2.5%6 T8
BAP400R-50-22-4T 50 | 22 |50] 10.4 | 6.3 | 14 0.4 APMT1604PDER | M4.0*9 T15
BAP400R-50-25.4-4T 50 | 25.4 |[50| 10 | 6 | 14 0.4 APMT1604PDER | M4.0*9 T15
BAP400R-63-22-4T 63 | 22 |50| 10.4 | 6.3 | 14 | 0.65 | APMT1604PDER | MA4.0*9 T15
BAP400R-63-22-5T 63 | 22 |50| 10.4 | 6.3 | 14 | 0.65 | APMT1604PDER | MA4.0*9 T15
BAP400R-63-25.4-4T 63 | 25.4 [50| 10 | 6 | 14 | 0.65 | APMT1604PDER | M4.0*9 T15
BAP400R-80-25.4-5T 80 | 25.4 |[50| 10 | 6 | 14 1 APMT1604PDER | MA4.0*9 T15
BAP400R-80-27-5T x5 | 80 | 27 |50 12.4 | 7 | 14 1 APMT1604PDER | M4.0*9 T15
BAP400R-80-27-5T 80 | 27 |50] 12.4 | 7 | 14 1 APMT1604PDER | M4.0*9 T15
BAP400R-80-27-6T 80 | 27 |50] 12.4 | 7 | 14 1 APMT1604PDER | M4.0*9 T15
BAP400R-80-27-6T 80 | 27 |50] 12.4 | 7 | 14 1 APMT1604PDER | M4.0*9 T15
BAP400R-100-32-6T 100 | 32 |50| 144 | 8 | 14 | 1.25 | APMT1604PDER | M4.0"9 T15
BAP400R-100-31.75-6T | 100 |31.75|50| 13 | 8 | 14 | 1.25 | APMT1604PDER | M4.0*9 T15
BAP400R-125-40-6T 125 | 40 |63| 164 | 9 | 14 3.1 APMT1604PDER | M4.0*9 T15
BAP400R-125-38.1-7T | 125 | 38.1 |63 | 16.4 | 10 | 14 3.1 APMT1604PDER | M4.0*9 T15
BAP400R-160-40-8T 160 | 40 |63| 16.4 | 9 | 14 5.1 APMT1604PDER | M4.0*9 T15
BAP400R-200-60-10T | 200 | 60 |63 | 25.7 | 14 | 14 | 6.78 | APMT1604PDER | MA4.0*9 T15
BAP400R-250-60-12T | 250 | 60 |63 | 25.7 | 14 | 14 | 10.5 | APMT1604PDER | MA4.0*9 T15
< |clz]| 2 | Z|vo|vo|o|o R~T Size(mm
a2 vodel 33| & B[S & [£|2|2/8[8|8|8|B[E|2(3|3B[5| | PATH
ooqz,\,hoowhw,_.on-,_.,\,momInsertshape L1 | L2 | S1 [F1|Re
-n al o |+ t|o|olo|o
APMT1135PDER-H1 (@@ /@ |@/0| ® (@@ 11 | 6.35 | 3.5 [1.5/0.4
APMT1135PDER-H2 [@|@|@Xx (@@ ® (@@ 11 | 6.35 | 3.5 [1.2]0.8
APMT1135PDER-H3 |@|® D) D 11 | 6.35 | 3.5 |0.8]1.2
APMT1135PDER-H4 |@|@ D) D 11 | 6.35 | 3.5 |0.4]1.6
APMT1135PDER-H6 |@|@ D) D 11 [ 6.35 3.5 [0.4]2.4] =
APMT1135PDER-MO |@ w | 11]6.35]35][18l0.2| 5
APMT1135PDER-M1 |@ \‘(@ﬁ 11 [6.35 [ 3.5 [1.5[04] C
APMT1135PDER-M2 |@[@ @ % ® S 1116.3513.511.2/0.8)
APGT1135PFER-G2 ® 11 | 6.35 3.5 [1.2[0.8] T
APMT1604PDER-H1 [@] | @ D % ~ [16.5]9.525[4.76[1.7]0.4| =
APMT1604PDER-H2 |@|@|@Xx @@ |@X|@® s/ [16.5]9.5254.76/1.7[0.8| &
APMT1604PDER-H4 |@ D 16.5|9.525|4.76]1.7|1.6
APMT1604PDER-H6 | @ D) 16.5/9.525(4.76|1.7|2.4
APMT1604PDER-HS |@ D 16.5/9.5254.76]1.7]3.2
APGT1604PFER-M2 |@ |@|@* D 16.5/9.5254.76]1.7]0.8
APMT1604PDER-G2 |@ D 16.5/9.5254.76]1.7[0.8
APKT1604PDSR 00000 16.4]9.525]4.76] - [0.8]3 73
APKT1604PDFR-MA 00 16.4|9.525|4.76| - |0.8|2 K




AR R
RAP-75° FACE MILL CUTTERS

+0.02
¢ di6: o1

AR
5P
= o
=
— 7]
Z&
ALV
AmI AT
Piane finishing Roughing
g [ S Model ) dRTJ' Sl-llze(mw) T T2 [EEKas 71K Insert 12T Screw | $RF Wrench
RAP300R-50-22-4T 50 22 50 [ 104 |6.3| 5 0.4 APMT1135PDER M2.5*6 T8
RAP300R-63-22-4T 63 22 50 [ 104 |6.3| 5 0.65 APMT1135PDER M2.5*6 T8
RAP300R-80-27-5T 80 27 50 [ 124 | 7 5 1 APMT1135PDER M2.5*6 T8
RAP300R-100-32-5T 100 32 501144 | 8 | 5 1.25 APMT1135PDER M2.5*6 T8
RAP300R-125-40-6T 125 40 501164 | 9 | 5 3.1 APMT1135PDER M2.5*6 T8
RAP300R-50-22-4T 80 27 501124 | 7 | 5 0.4 APMT1135PDER M2.5*6 T8
RAP400R-50-22-4T 50 22 50 [ 104 |6.3| 8 0.4 APMT1604PDER M4.0*9 T15
RAP400R-50-25.4-4T 50 25.4 | 50 10 6 [ 8 0.4 APMT1604PDER M4.0*9 T15
RAP400R-63-22-4T 63 22 50 | 104 |6.3| 8 0.65 APMT1604PDER M4.0*9 T15
RAP400R-63-25.4-4T 63 25.4 | 50 10 6 |8 0.65 APMT1604PDER M4.0*9 T15
RAP400R-63-25.4-5T 63 25.4 | 50 10 6 | 8 0.65 APMT1604PDER M4.0*9 T15
RAP400R-80-27-5T 80 27 501124 | 7 | 8 1 APMT1604PDER M4.0*9 T15
RAP400R-80-25.4-5T 80 25.4 | 50 10 6 [ 8 1 APMT1604PDER M4.0*9 T15
RAP400R-100-32-6T 100 32 501144 | 8 | 8 1.25 APMT1604PDER M4.0*9 T15
RAP400R-100-31.75-6T 100 | 31.75 | 50 13 8 [ 8 1.25 APMT1604PDER M4.0*9 T15
RAP400R-125-40-6T 125 40 60 [ 164 | 9 | 8 3.1 APMT1604PDER M4.0*9 T15
RAP400R-160-40-7T 160 40 60 (164 | 9 | 8 5.1 APMT1604PDER M4.0*9 T15
RAP400R-200-60-9T 200 60 60 | 25.7 | 14 | 8 6.7 APMT1604PDER M4.0*9 T15
RAP400R-250-60-10T 250 60 60 [ 25.7 |14 | 8 10.5 APMT1604PDER M4.0*9 T15
RAP400R-315-60-14T 315 60 60 | 25.7 |14 | 8 - APMT1604PDER M4.0*9 T15
RAP400R-350-60- 350 60 60 [ 25.7 |14 | 8 - APMT1604PDER M4.0*9 T15
RAP400R-400-60- 400 60 60 [ 25.7 | 14 | 8 - APMT1604PDER M4.0*9 T15
A]Ec A 71/ INSERTS
< |c|lz| =2 |e Z|(v|o|lo|w R~F Size(mm)
mis 22 vodel |33 & |S[S| & [2I3|218]5|2|8(BEIE|B|3|8 | JIRRAR
3le '|_|'| = m g 3 = m g g 'S 8 Ll Y N R R R nsert shape L1 L2 S1 |F1|Re
APMT1135PDER-H]1 (@ | @ (OXx | ©0(® ©® 0O 11 | 6.35(3.5|1.5|0.4
APMT1135PDER-H2 (@ | @ OXx | 0@ ©® 0O 11 | 6.35(3.5(1.2|0.8
APMT1135PDER-H3 |@®|@® @ [ 11 | 6.35| 3.5 |0.8]1.2
APMT1135PDER-H4 |@|@® @ [ 11 | 6.35( 3.5 |0.4|1.6
APMT1135PDER-H6 |@|@® [ ) [ ] 11 [6.35]3.5|0.4]2.4| =
APMT1135PDER-MO (@ Re 11 | 6.35( 3.5 |1.8]0.2 a
APMT1135PDER-M1 (@ \‘@* 11 | 6.35(3.5|1.5|0.4 ccu
APMT1135PDER-M2 (@ | @ |@* (] 85 11 [6.35]3.5[1.2]0.8| &»
APGT1135PFER-G2 11 [6.35]3.5|1.2[0.8]
APMT1604PDER-H1 (@ [ [ ] % . 16.5]|9.525|4.76(1.7|0.4| =
APMT1604PDER-H2 |@|@®(@X | @ ©®|®X | ©® SiLF 16.5|9.525|4.76(1.7|0.8 %
APMT1604PDER-H4 (@ [ ] 16.5|9.525|4.76(1.7(1.6
APMT1604PDER-H6 (@ [ 16.5|9.525|4.76(1.7(2.4
APMT1604PDER-HS (@ () 16.5|9.525|4.76(1.7(3.2
APGT1604PFER-M2 |@| @ |@* (] 16.5|9.525|4.76(1.7|0.8
APMT1604PDER-G2 (@ [ 16.5|9.525|4.76(1.7(0.8
APKT1604PDSR 00000 16.4(9.525|4.76| - |0.8/3 7]
APKT1604PDFR-MA [ 1) 16.4(9.525(4.76] - [0.8]2~




OEREMMH. H. B SHHRETR

KM-45°

FACE MILL CUTTERS

+0.02
+0. 01

od

© Match blade with difference material,such as steel,Casting
and Aluminum

‘ ‘ NN,
3;& amm ' BmL HHmT
Piane finishing Roughing
R~} Size(mm)
|J=
#1g /| S Model D D1 d m W T TEEKGS 71K Insert | #8%T Screw | #RF Wrench
KM12-50-22-4T 50 64 22 50 10.4 6.3 0.5
KM12-50-25.4-4T 50 64 | 25.4 | 50 10 6 0.5
KM12-50-22-4T Ri% 50 64 22 50 10.4 6.3 0.5
KM12-63-22-4T 63 77 22 50 10.4 6.3 0.75
KM12-63-25.4-4T 63 77 | 25.4 | 50 10 6 0.75
KM12-80-27-5T 80 94 | 25.4 | 50 10 6 1.2
KM12-80-27-5T Ri5 80 94 27 50 12.4 7 1.2
KM12-100-32-5T 100 | 114 32 50 14.4 8 1.8
KM12-100-31.75-5T 100 | 114 | 31.75| 50 13 8 1.8
KM12-125-40-6T 125 | 139 40 63 16.4 9 3.8 .
KM12-125-38.1-6T 125 ( 139 | 38.1 | 63 16.2 10 3.8 SEHT1204 M5%11 T20
KM12-160-40-7T 160 | 174 40 63 16.4 9 5.2
KM12-160-38.1-7T 160 | 174 | 38.1 | 63 16.2 10 5.2
KM12-200-60-10T 200 | 214 60 63 25.7 14 6.8
KM12-200-38.1-10T 200 | 214 | 38.1 63 16.2 9 6.8
KM12-250-60-12T 250 | 264 60 63 25.7 14 10.5
KM12-300-60-14T 300 | 314 60 63 25.7 14 -
KM12-315-60-14T 315 | 329 60 63 25.7 14 -
KM12-350-60- 350 | 364 60 63 25.7 14 -
KM12-400-60- 400 | 414 60 63 25.7 14 -
AIE2A 7]/ INSERTS
Z|vo|vo|w R~F Size(mm
114% | B2 Model §§§§%§§§§§288852§ TIRRAR o
u a g 3' = a G m =2 '5‘ g é § E 8 8 = Insertshape D1 | S1 ﬁﬂg*g
SEHT 1204AFN o0 e [ ) [ ) 12.7|4.76| & WALTER
1204AFN-K88 ([ ) 12.7|4.76| & (RLARES)
SEHW 1204AFN L JL ) 00000 12.7|14.76| T
SECA 1204AFSN ( ] J 12.7|14.76| T
1204AFTN [ ) [ () 12.7|(4.76| *
1204AFFN [ ] 12.7|(4.76| X K(C;;L#O)Y
1204AFEN [} 12.7|14.76| *
SEHT 1204AFFN-M [ ) 12.7|4.76| *
= R~F Size(mm)
I(z(x[v|2|3|o|T|T|ale
m = =l=lolvlo = =
AHE S Model 12/5]53 |6 |B|R(2|5|5|5 p1 | S1 [smi
SEET 1204AFSN-M01 [ ) 12.7|4.76| &
1204AFFN-FO1 [ ) 12.7|4.76| &
SEHT 1204AF4B [ J[ ) 12.7|4.76]| & S{g;;;gwl
1204AFFN [ J 12.7|4.76| B
SEHW 1204AFN [ J 12.7(4.76| k&




AR RIIZ R

KM 32§77 KM END

b

L
=
o
-
=
(q}

it
7]
&2

OFAMEETRMME

ORfwER, BITHEE,

BG RINT P TER

MILL

S

005
015

© Use antiknock tool steel.
© Overall pre-hard first,then fine processing,avoid
transformation when proceed twice.

l ‘ ‘ I ‘ /ML g
Piane finishing Gopy mil ling
= 78 Rt Size(mm)
]
#1g /| S Model Teeth ) P L 1 3 71K Insert | #2$T Screw | #R¥F Wrench
KM09-25*120-C20 4 25 20 120 - 4.5
KM09-25*120-C25 4 25 25 120 32 4.5 A30070E
KM09-32*120-C25 4 32 | 25 | 120 | - | 45 | SEEX09T3 | Tz T8F T8
KM09-32*120-C32 4 32 32 120 32 4.5
KMO012-32*120-C20 3 32 20 120 - 6
KMO012-32*120-C25 3 32 25 120 - 6 A50110D
KMO012-40*120-C20 3 40 20 120 - 6 SEHT1204 M5*11 T20F T20
KMO012-40*120-C25 3 40 25 120 - 6
KMO012-40*120-C32 3 40 32 120 - 6
KM12-50*120-C20 3 50 20 120 - 6
KM12-50*120-C25 3 50 25 120 35 6
KM12-50*120-C32 3 50 32 120 35 6
KM12-63*120-C20 3 63 20 120 - 6
KMO012-63*120-C25 3 63 25 120 35 6
KM012-63*120-C32 3 63 32 120 35 6
AIE2A 7]/ INSERTS
HEBEREEE E%gxgvn R} Size(mm)
#148 / B2 Model %%%‘%EE:;;%E‘%&& agﬁé TIBRR Insertshape | o | o | 4B
MBS EESEEEEEEEE H
SEHT 1204AFN 000 @ @ 12.7|4.76| B WALTER
1204AFN-K88 ([} 12.7|4.76| B )
SEHW 1204AFN L JOJ0) 00000 ~ 12.7|4.76| *
SECA 1204AFSN [ 1) - " 12.7|4.76| *
1204AFTN 120 12.7|4.76
o o0 £ | KorLoy
1204AFFN [ J 12.7|4.76| * (7IB)
1204AFEN [ ] 12.7|4.76| *
SEHT 1204AFFN-M [ J 12.7(4.76| k&
0l [ » R~} Size(mm)
y= —|o|(T z Olx s
#1& | BUS Model E N § =z 2 JIE AR Insert shape b1 | s1 |smiE
SEET 1204AFSN-M01 (@ 12.7|4.76| B
1204AFFN-FO1 [ ) 12.7|4.76| B
SEET 1204AF4B ol® " 12.7[4.76| & S{%;%\)M
1204FFN ° . 12.7)4.76] &
SEHW 1204AFN [ J 12.7|14.76| X




Bl A 5 7)

EMR/EMRW 5R ROUND DOWEL FACE MILL CUTTERS 6d9Q

+0. 01

W

e
@)

~0.05
oD 13

BmT FHmMT ZHEMmLT E\tﬂ:ﬂuj ‘ar!f‘mn;{l fAfmI

Piane finishing Roughing Pocket milling  Sloot plunge milling Shoulder milling  Copy milling
kg [ 222 Model D ):tl'slbzle(n;vm) T TalEEKGsS 71K Insert  |[E#R Clamp| 12%T screw | #&%3F Wrench
EMR-5R-40-16-4T 40 16 |42|1 85| 5 |5 0.3
EMR-5R-40-22-4T 40 22 |42(10.4(6.3|5 0.3
EMR-5R-50-22-4T 50 22 |50(10.4|16.3(5 0.35
EMR-5R-63-22-4T 63 22 |50(10.4(/6.3|5 0.55
EMR-5R-63-22-5T 63 22 |50(10.4(6.3|5 0.55
EMR-5R-63-25.4-4T 63 [ 25.4 (50| 10 | 6 |5 0.55
EMR-5R-80-27-5T | 80 | 27 |50|12.4] 7 |5| 0.9 A4100J
EMR-5R:8027-6T | 80| 27 [50]12.4] 7 |5] 0.9 | RPMW1003MO | A-5R A3SL00F T
EMR-5R-80-25.4-6T | 80 | 25.4 [50] 10 | 6 [5| 0.9 N3.5%10
EMR-5R-100-32-6T 100| 32 |50(14.4( 7 |5 1.2

EMR-5R-100-31.75-6T [100| 31.75 |50 13 | 8 |5 1.2
EMR-5R-125-40-6T 125| 40 (63(16.4| 9 (5 3.2
EMR-5R-160-40-8T 160| 40 |63(16.4| 9 |5 5.2
EMR-5R-200-60-10T 200( 60 (63|25.7|14 (5 6.8
EMR-5R-250-60-12T 2501 60 |63|25.7(14 |5 10.5
Oj%: TIKE $300, IEZIEFRE S © Notice:can make ¢$300,nonstandard as custom order
AIE2A 7]/ INSERTS
clz|clqalslv]| v | ol .. | R Size(mm)
*ﬂ!ﬁ/ﬂ%Modelgﬁ Eégé égéﬁggﬁggﬁaa,”ﬁﬁﬁ*
SIS 8FS| & |8 n ide|2|I8I0 8|4 Insert shape [D1| S1 | HiBHE
RPMW1003MO @ @ | @ MITSUBISHI

@ ’I?I ¢ 10|3.18| X (=E)
M‘ st HITACHI
RPMW1003MOEN [ 2 dl 2 el 1 10(3.18] X (B3D)

RPMW1003MOEN o000 oo 10(3.18| * (Dg,i-;




A3 (LRI R R

:

EMR/EMRW 6R ROUND DOWEL FACE MILL CUTTERS

od g g
w
)+
I
|
—©)
oD 7§ %
<. P —7 L
BT M ZHMI || I | &MEmI|| HARmI
Piane finishing Roughing Pocket milling  Sloot. plunge milling Shoulder milling  Copy milling
R~} Size(mm)
= 3
#1% | 215 Model D d Hlw [ T alEEKGS 71K Insert  |[EMR Clamp| #2%] screw |#R¥F Wrench
EMR-6R-40-16-3T 40 16 |42(85| 5 |6 0.3
EMR-6R-50-22-4T 50 22 |50(10.4(6.3(6 0.35
EMR-6R-50-25.4-4T 50 | 25.4 |50| 10 6 |6 0.35
EMR-6R-63-22-4T 63 22 (50|10.4(6.3|6 0.55
EMR-6R-63-22-5T 63 22 (50|10.4(6.3|6 0.55
EMR-6R-63-25.4-4T 63 | 25.4 |50 10 | 6 |6 0.55
EMR-6R-80-27-5T 80 27 [50|12.4| 7 |6 0.85
EMR-6R-80-27-6T 80 27 ([50|12.4| 7 |6 0.85 A40100J T15F
EMR-6R-80-25.4-5T | 80 | 25.4 |50] 10 | 6 |6| o0.85 | RPMI11204MO | A-6R M4*10 T15
EMR-6R-80-25.4-6T 80 | 25.4 |50 10 | 6 |6 0.85
EMR-6R-100-32-6T 100 32 |50|14.4| 8 |6 1.2
EMR-6R-100-31.75-6T | 100 (31.75|50| 13 | 8 |6 1.2
EMR-6R-125-40-6T 125 40 (63|16.4| 9 |6 3.2
EMR-6R-160-40-8T 160 | 40 |63(16.4| 9 |6 5.2
EMR-6R-200-60-10T 200| 60 [63|25.7|14 |6 6.8
EMR-6R-250-60-12T 250 | 60 |63]|25.7| 14 |6 10.5

OiE: mIfHEI 300, EZAFRES]

AJE2A7]/ INSERTS

© Notice:can make ¢$300,nonstandard as custom order

< |z|le| 2 R~} Size(mm)
x| 3 (X5 2] 3|33 ==z |x|T|o 2 4
s ws vodel (31 8| 8 B5I 5| B BI3EBIBQIZ(G|  neerichave o1 s1 |
slo|F 158 2 5 |188|le|r|Nd|u|o|x P ]
RPMT1204MOE-JS | @ |@% | @% 7 7 12|1476| & M'(Tszlgs""
RPMT1204MO OO0 12|4.76] & | KYOCERA
1204MO-H oo 000 D1 12|14.76]| & (F&)
RPMW1204MOE | @ ool ® 12[4.76] %
(D) MITSUBISHI
1204MOT ° NF 12(476| £ | (=)
D1




TRS BEES TRS ROUND DOWEL FACE MILL CUTTERS

odi3 e
W
-
o
|
©-
' e ‘ oD §%
<@ b —w ol
BT EmT || BEMT | |ETIANT | anEmT|| sEmT
Piane finishing Roughing Pocket milling Sloot. plunge milling  Shoulder milling Copy milling
R~T Size(mm)
m = 3
g | S Model D TdlHI W | T2 EEKas 71K Insert [EHR Clamp | #8$T Screw | 3RF Wrench
TRS-5R-40-16-4T 40 (16|42 85| 55| 0.3
TRS-5R-40-22-4T 40 |22 (42]10.4[63[ 5| 0.3
TRS-5R-50-22-4T 50 |2250/10.4]6.3] 5| 0.35
TRS-5R-63-22-4T 63 |22|50]10.4(6.3| 5| 0.55
TRS-5R-63-22-5T 63 |22]50[10.4]6.3] 5| 0.55 A4100J
TRS-5R-80-27-5T 80 |27|50|12.4| 7 | 5| 0.85 A35100F T15F
TRS-5R-80-27-6T | 80 |2750|12.4| 7 | 5| 0.85 RDMT10T3 Y-5R M4*10 T15
TRS-5R-100-32-6T [ 100[32[50[14.4| 8 [ 5 | 1.25 N3.5*10
TRS-5R-125-40-6T | 125|40|60|16.4| 9 | 5 | 3.2
TRS-5R-160-40-8T | 160|40|60|16.4| 9 | 5| 5.2
TRS-5R-200-60-10T | 200|60|60|25.7|14| 5| 6.8
TRS-5R-250-60-12T | 250 |60|60|25.4|14| 5 | 105
TRS-6R-50-22-4T 50 |22[50(10.4]/6.3] 6 | 0.35
TRS-6R-63-22-4T 63 [22]50]10.4]6.3] 6 | 0.55
TRS-6R-80-27-6T 80 |27|50|12.4| 7| 6| 0.85 .
TRS-6R-100-32-6T | 100|32|50|14.4| 8 | 6 | 1.25 RDHW1204 Y-SR M4.0%9 T15
TRS-6R-125-40-6T | 125|40|60|16.4| 9 | 6 | 3.2
TRS-6R-160-40-8T | 160|40|60(16.4| 9 | 6 | 5.2
TRS-8R-63-22-4T 63 |22]50]10.4(6.3] 8| 0.55
TRS-8R-80-27-6T 80 |27|50|12.4| 7 | 8| 0.85 .
TRS-8R-100-32-6T | 100|32|50|14.4| 8 | 8 | 1.25 RDMT1604 Y-8R M5.0712 120
TRS-8R-125-40-6T | 125|40|60]|16.4| 9 | 8 | 3.2
cl|lZ2|C <| »n 0 |« S S
me/ms |SIEISITR 22 BzzlclelazizixIznl aamg oo
Model S § § S 3 § 5 § S EIRE IR Insertshape  [D1| S1 | H/BiE
RPMT10T3MOE oo 10]3.07| % |MITSUBISHI
(=)
RDMT10T3MOTN ox| 0% 103.97| 7 | HITACHI
(B31)
- s |zlg| 2 v |[vlv|x|z|z!x|vlv . RF Size(mm)
m = S| RI|IZEIE] 2 |23ZEERRA TR
REIES Model 1818 | 5 |2B| 8 | £ |B[2|5(E|Q[R|E|E] msertshape  |o1] 51 |emim
RPMT1204MOE-JS | @ |@* | @*% ,, ~ 1214.76) & MI(TS=U§B)IS|-II
RPMT1204MO D000 e [12[4.76] & | KYOCERA
1204MO-H o o o000 1 St 12]4.76| & (TE)
RPMWI1204MOE |@| @ N0 12]4.76] %
: ‘ : =i MITSUBISHI
1204MOT ] \/ i |12|4.76|  F (=)
D1 S1
< [zle| 2 < R~ Size(mm)
D=l (X5 2| 3 |33=T|x|x|9(2 2 4R
Mg/ 28 Model 12| 2 | & (&[S 8 | & BIZIE|E]BIR|E|2 |n£ﬁ§ﬁ:e D1| S1 | HiEiE
R RHEEAREREEE NN EE P =
16(6.35
RDMX1604 b et " HITACHI
RDMT1604 e A31108




AR Z R

. 1 [=] B3 == 117
SPANET B G5 AT YAk 8 R200 ROUND DOWEL FACE MILL CUTTERS
$d i3
W
)+l
o
|
6.
! oDG %
<. b — aaai
g w 7 PNIN A
MmL || EmT || =EmL | s ST | SWENL)| HRmT
Piane finishing Roughing Pocket milling Sloot. plunge milling Shoulder milling Copy milling
R~F Size(mm) S
m 1o 3
}I4g [ B4 Model 5 d o T w T 2 715 Insert [E#R Clamp 12T Screw Wrench
R200-5R-50-22-4T 50 | 22 | 50 |10.4] 6.3 | 5
R200-5R-63-22-4T 63 | 22 | 50 |10.4] 6.3 | 5 A40100J/A35100J| T15F
R200-5R-80-27-6T 80 | 27 | 50 [12.4] 7 | 5 | RCLITIOT3MO | A6R | "yiio/M3.5%10 | T15
R200-5R-100-32-6T | 100| 32 | 50 |14.4] 7 | 5
R200-6R-50-22-4T 50 | 22 | 50 |10.4] 6.3 | 6
R200-6R-63-22-4T 63 | 22 | 50 |10.4] 6.3 | 6 A40100J/A35100J| T15F
R200-6R-80-27-6T 80 | 27 | 50 [12.4] 7 | 6 | RCLIT1204MO | A6R | "yico/M3.5%10 | T15
R200-6R-100-32-6T | 100| 32 | 50 |14.4] 8 | 6
R200-8R-63-22-4T 63 | 22 | 50 |10.4] 6.3 | 8
R200-8R-80-27-6T 80 | 27 | 50 |12.4] 7 | 8
R200-8R-100-32-6T | 100 | 32 | 50 |14.4] 8 | 8 | RCCIT1606MO | A-8R AagligJ TT22°0F
R200-8R-125-40-6T | 125| 40 | 63 |16.4] 9 | 8
R200-8R-160-40-8T | 160 | 40 | 63 |16.4] 9 | 8
wiz|lz|x|v|o 2 R~T Size(mm)
s e NN E AR R
s /RS Model 1818 18|Z2I8|5|8(8(5|8|8|8(2]8|%(S|8 Insert shape D1|d1| s1
RCHT10T3MO-PL|@|® 10|4.0] 3.97
10T3MO-KL D) 10(4.0] 3.97
10T3MO-ML 00 10(4.0] 3.97
RCHT1204MO-PL|@|® ] 12(4.0] 4.76
1204MO-KL ° = [12a0] 476 (i)
1204MO-ML 0 ﬁ” 12[4.0| 4.76 g
RCHT1606MO-PL|@|@® St 16 |5.5| 6.35
1606MO-KL ° 16|5.5] 6.35
1606MO-ML 00 16]5.5] 6.35
RCKT10T3MO-PM D00 10(4.0] 3.97
10T3MO-KM 00 10(4.0] 3.97
10T3MO-WM|@ o @ 104.0] 3.97
10T3MO-MM 00 104.0] 3.97
RCKT1204MO-PM D00 12(4.0] 4.76
1204MO-KM N0 12|4.0| 4.76 | SANDVIK
1204MO-WM|@ o (o 12[4.0] 4.76 |( L4545 )
1204MO-MM 00 12(4.0] 4.76
RCKT1606MO-PM D00 165.5] 6.35
1606MO-KM 00 16|5.5] 6.35
1606MO-WM|@® o @ 16|5.5] 6.35
1606MO-MM 00 16 5.5 6.35
RCKT10T3MO-PH 000 104.0] 3.97
10T3MO-KH 00 10[4.0] 3.97
10T3MO-WH D) 10[4.0] 3.97
RCKT1204MO-PH 000 ., [12][2.0] 416
1204MO-KH 00 15l M2fa0la7e &‘%‘Z&’%‘)
1204MO-WH ° | —7 [12[4.0] 4.76 :
RCKT1606MO-PH 000 D1 N 16(5.5] 6.35
1606MO-KH 00 16(5.5] 6.35
1606MO-WH ° 16(5.5] 6.35




YO EE] R RIS AT YA R200 ROUND DOWEL FACE MILL CUTTERS

$d i3
W
) -l
=
\
.
~ E = ‘ oD 5%
BmT amT || EEMI | TAmT | amEmT|| sEmT
Piane finishing Roughing Pocket milling Sloot. plunge milling Shoulder milling Copy milling
RT Size(mm) o ES
M = 3
g | S Model > q 0w T 3 71K Insert [E#R Clamp 24T Screw Wrench
R200-5R-50-25.4-4T 50 |25.4| 50 | 10 | 6 | 5
R200-5R-63-25.4-4T 63 [25.4|50 | 10| 6 | 5 A40100J/A35100J | T15F
R200-5R-80-25.4-6T 80 |25.4] 50 | 10 | 6 | 5 | R TIOT3MO | A-6R M4*10/M3.5*10 T15
R200-5R-100-31.75-6T | 100 |31.75| 50 | 13 | 8 | 5
R200-6R-50-25.4-4T 50 |25.4| 50 | 10 | 6 | 6
R200-6R-63-25.4-4T 63 |25.4|50 | 10| 6 | 6 A40100J/A35100J | T15F
R200-6R-80-25.4-6T 80 |25.4] 50 | 10| 6 | 6 | RCLIT1204MO | A-6R M4*10/M3.5*10 T15
R200-6R-100-31.75-6T | 100 |31.75| 50 | 13 | 8 | 6
R200-8R-63-25.4-4T 63 |25.4| 50 | 10 | 6 | 8
R200-8R-80-25.4-6T 80 |25.4| 50 | 10 | 6 | 8
R200-8R-100-31.75-6T | 100 |31.75| 50 | 13 | 8 | 8 | RCLIT1606MO | A-8R Ala‘;{igJ TTZZOOF
R200-8R-125-38.1-6T | 125 | 38.1 | 50 |16.2| 10 | 8
R200-8R-160-38.1-8T | 160 | 38.1 | 50 |16.2| 10 | 8
- MERE SRR REEEEEREE TR £ Size(mm)
uﬁ/g‘?MOdel3583838833‘;‘;38858& Insert shape D1|{d1| S1
RCHT10T3MO-PL|@|@® 10| 4.0| 3.97
10T3MO-KL ® 10| 4.0| 3.97
10T3MO-ML 00 : 10| 4.0| 3.97
RCHT1204MO-PL|@|@ + . [12]4.0] 476
1204MO-KL ° =l MaTa0] a6 (e )
1204MO-ML 0 ﬁ” 12 (4.0| 4.76 -
RCHT1606MO-PL| @@ St 16 (5.5 6.35
1606MO-KL ) 16 |5.5] 6.35
1606MO-ML 00 16 |5.5| 6.35
RCKT10T3MO-PM N0 10 |4.0| 3.97
10T3MO-KM N0 10 |4.0| 3.97
10T3MO-WM|@ o [@ 10 |4.0| 3.97
10T3MO-MM 00 ‘ 10 |4.0| 3.97
RCKT1204MO-PM N0 12]4.0| 4.76
1204MO-KM 0 12]4.0| 4.76 | SANDVIK
1204MO-WM|@ o |® 124.0| 4.76 | (i#545%)
1204MO-MM 00 12[4.0] 4.76
RCKT1606MO-PM 00 ‘ ‘ 16 [5.5| 6.35
1606MO-KM 00 16 |5.5| 6.35
1606MO-WM|@ o @ 16 |5.5| 6.35
1606MO-MM 00 16 |5.5| 6.35
RCKT10T3MO-PH N0 10 |4.0| 3.97
10T3MO-KH 0 10 | 4.0 | 3.97
10T3MO-WH [ : 10 | 4.0 | 3.97
RCKT1204MO-PH D00 12[4.0| 4.76
1204MO-KH 00 12(4.0] 4.76 (?Jm?él%‘)
1204MO-WH ® 12 4.0 4.76 -
RCKT1606MO-PH D00 16 |5.5| 6.35
1606MO-KH 00 16 |5.5| 6.35

1606MO-WH [ 16 |5.5[ 6.35 M_



XPKR 220412 XPKN 220412

kA #B KC25 $WA #4 B PP30
TPKN 2204PDR TPKN 2204PDR
$WA #4 % PP20 $WA ¥ PJ20
TPKN 220408
$WA # & PP30

-0. 005
-0.015

od

L

ZimI ﬁ\;:ﬂﬂj E‘Bﬁ‘ﬁh&ll i)

BT EmT
Piane finishing Roughing Pocket milling Sloot. plunge milling Shoulder milling Copy milling
g [ B85S Model s R Size(mm) 71K Insert | E#R Clamp | #8%T Screw | #&RF Wrench
Teeth D d L L1 a
TP16-30%100-C20 2 30 | 20 [ 100 ] 45 | 14
TP16-35*100-C20 2 35 | 20 [ 100 [ 45 | 14
TP16-35%105-C25 2 35 | 25 [ 105 | 45 | 14
TP16-35°110-C32 2 35 | 32 | 110 | 45 | 14 ﬁ'&';‘:iggg AMS-4 AmiggJ T15
TP16-40*110-C20 3 40 | 20 [ 110 | 45 | 14
TP16-40*110-C25 3 40 | 25 [110] 45 | 14
TP16-40*115-C32 3 40 | 32 [ 115 | 45 | 14
TP22-50*110-C20 3 50 | 20 [ 110 | 42 | 20
TP22-50*110-C25 3 50 25 | 110 | 42 20 TPMN2204
TP22-50*115-C32 3 50 | 32 [ 115 [ 42 | 20 | TPKN2204 Ccsy-20 | A50110D 120
TP22-63*110-C20 3 63 | 20 | 110 | 42 | 20 | XPKR220412 M5*11
TP22-63*110-C25 3 63 | 25 | 110 | 42 | 20 | XPKN220408
TP22-63*110-C32 3 63 | 32 [110 | 42 | 20
OXBIEHIAMME
ORGKTIER, BITRE, BRIXMI~ETH
OEZHEMEEH




TPOO EEfAMmEIE TP90° SQUARE FACE MILL HEAD

I
' d
‘ ‘ ‘ ‘ ‘ iy AHmMT TEmMI FEmLT ’a‘ﬂﬁm&l
Piane finishing Roughing Graphic processing  Graphic processing  Shoulder milling
g [ BS Model 7)#% NTeeth ) R¥ Sl(zje(mm) m BE=KGS | 71K Insert | ERER Screw | IRF Wrench

TP90-50-22-3T 3 50 22 50 0.40 TPMN1603 M6 WRN-M3T
TP90-63-22-3T 3 63 22 50 0.75 TPMN2204 M8 WRN-M4T
TP90-80-27-4T 4 80 27 50 1.00 TPMN2204 M8 WRN-M4T
TP90-100-32-4T 4 100 32 50 1.25 TPMN2204 M8 WRN-M4T
TP90-125-40-6T 6 125 40 60 2.70 TPMN2204 M8 WRN-M4T

©i&F Suitable: =Z 7] MITSUBISHI Insert
O$XHIINI, NBSHEKEKER M/C INTH

OREf 90 &

TPOO EEHAE#IIE TP90° SQUARE FACE MILL HEAD

© Milling in milling machine with a low power and machine
center.
© Angle: 90°

EmLI AHmT SFEmML TEMI || EMEMT
Piane finishing Roughing Graphic processing  Graphic processing  Shoulder milling
g B UIE R Size(mm) B8 g | RS UIE R Size(mm) E2
Model Teeth | D d dl | H [KGS Model Teeth D d dl | H | KGS
TP90-160-50.8-8T 8 160| 50.8 - |63]7.30 TP90-160-40-8T 8 160 40 - 63| 5.60
TP90-200-47.625-10T 10 200(47.625(101.6(63| - TP90-200-60-10T 10 200( 60 ([101.6(63| -
TP90-250-47.625-12T 12 250/47.625(101.6(63| - TP90-250-60-12T 12 250| 60 |101.6|63 -
TP90-300-47.625-14T 14 300|47.625|101.6(63| - TP90-300-60-14T 14 300| 60 |101.6|63 -
EIRE Replacing fittings {E B 715 #4& Insert specification
EO04 EO3 EO3 E02
| A AL
/f \ 22 476
* } FC3050- |SV-128170- )
M>™6 | LS |tpa2oa-15| 15 TH-40 TPKN2204

OiF: AEEMRNNKE, F—1 TP JILAESFA

O#EHIMT, MBAskER M/C INTHA

Of8f 90 £

© NOTICE: If replacing insert seat,the TP head mill can use

again.

© Milling in milling machine with a low power and machine

center.
© Angle: 90°



IR (AR TI B2 RY
FP45° FACE MILL HEAD

D
d1
A e T
& ] |
18 : ﬂ [
= o 018 T
=
—7]
=
i = b oo
AHmMT FEMI || EMEMLT
Roughing Graphic processing ~ Shoulder milling
g S 718k Rt Size(mm) n = DIE R~ Size(mm)
Model Teeth[ D] d | di |H|EEKGS AU [ BS Model | roeth| D] @ | d1 [H|EEKGS
FP45-80-25.4-5T 5 80| 25.4 - |50 1.90 FP45-80-27-5T 5 80| 27 - |50 2.05
FP45-100-31.75-5T 5 [100] 31.75 - |50/ 2.40 FP45-100-32-5T 5 [100] 32 - |50/ 2.55
FP45-125-38.1-6T 6 |[125| 38.1 - 63| 5.50 FP45-125-40-6T 6 |125| 40 - 63| 5.70
FP45-160-50.8-8T 8 |160| 50.8 - [63] 7.30 FP45-160-40-8T 8 |160| 40 - |[63] 7.50
FP45-200-47.625-10T| 10 |200|47.625(101.6|63| 11.45 FP45-200-60-10T 10 (200( 60 |101.6(63| 11.70
FP45-250-47.625-12T| 12 |250|47.625(101.6|63| 13.65 FP45-250-60-12T 12 (250( 60 |101.6(63| 13.90
FP45-300-47.625-14T| 14 |300(|47.625(101.6|63| 22.10 FP45-300-60-14T 14 (300 60 |101.6(63| 22.40
BT Replacing fittings {ERTI A G Insert specification
EO3 EO3 E02
o T 2 0.0 el
~§ - \ 7
Q/ f N\ 12.7 3.2 15.875 4.7
FC2550 SV-128170-15 TH-40 SEKN1203 SEKN1504
OF: REEMAAKE, R—1TFP MEDB/ITEHA O NOTICE: If replacing insert seat,the FP head mill can use
SEKN1203,SEKN1504 —#7I5 SEKN1203 and SEKN1504.

FP75 EFHEEETIE FP75° FACE MILL HEAD

D
d1
— N T
| \
ANE b I
(D | d |
NN
AT SFEMI || EMEMLI
Roughing Graphic processing  Shoulder milling
= T RF Size(mm) = 7 Rt Size(mm)
| ] | 1)

AU [ BS Model | ooth| D] d [ di |H|BEKGS AU/ BS Model |rooth D d | d1 |[H|BEEKGS

FP75-80-25.4-5T 5 80| 25.4 - |50 1.90 FP75-80-27-5T 5 80| 27 - [50] 2.05

FP75-100-31.75-6T 6 |100| 31.75 - |50 2.40 FP75-100-32-6T 6 [100( 32 - [50] 2.55

FP75-125-38.1-8T 8 |125| 38.1 - |63] 5.50 FP75-125-40-8T 8 |125| 40 - |[63] 5.70

FP75-160-50.8-10T 10 (160| 50.8 - |63] 7.30 FP75-160-40-10T 10 (160| 40 - |[63] 7.50

FP75-200-47.625-12T| 12 |200(|47.625|101.6|63| 11.45 FP75-200-60-12T 12 (200( 60 |101.6(63| 11.70

FP75-250-47.625-14T| 14 |250(|47.625|101.6|63| 13.65 FP75-250-60-14T 14 (250( 60 |101.6(63| 13.90

FP75-300-47.625-16T| 16 (300(47.625|101.6|63( 22.10 FP75-300-60-16T 16 |300( 60 |101.6(63| 22.40

BIRZE Replacing fittings fEH 71 5 314§ Insert specification
EO3 EO3 E02
& TN | & S S I
@ /s \ 2.7 372 5.8 476
FC2550 SV-128170-15 TH-40 SPUN120308 SPKN1504EDTR-20
OiF: REEMANKE, AR—1LFP BN B/AMEEMA O NOTICE: If replacing insert seat,the FP head mill can use
SPUN120308, SPKN1504EDTR-20 —#71H SPUN120308 and SPKN1504EDTR-20.



SMP =HE71$%t7] (718

QO
o
(<)
Q
=}

[0 e[

ol [ 9 07

P.E8T P.130 P.132

g | BS R~ Size(mm) 5 il 1257 RF
Model D H d W T a z Insert Clamp screw | Wrench
SMP-80*8-A22-06-10 80 45 22 21 8 40 10
SMP-100*8-B27-06-14 100 | 55 27 24 8 40 14 | MP[]T060304 M2.5*6.5 T8

SMP-100*10-B27-06-14 100 | 55 27 24 10 40 14
SMP-125*10-B32-06-16 125 [ 65 32 33 10 45 16
SMP-125*12-B32-08-12 125 | 65 32 33 12 45 12
SMP-160*12-B40-08-14 160 | 80 40 45 12 50 14 MP [] T080305 M3*8 T8
SMP-200*12-C40-08-18 200 | 92 40 53 12 50 18
SMP-125*16-B32-12-10 125 [ 65 32 30 16 50 10
SMP-160*16-B40-12-12 160 [ 80 40 45 16 60 12
SMP-160*18-B40-12-12 160 [ 80 40 45 18 60 12
SMP-200*16-C40-12-12 200 | 92 40 53 16 50 14 MP [J T20408 M5*12 T20
SMP-200*18-C40-12-14 200 | 92 40 53 18 50 14
SMP-200*20-C40-12-14 200 | 92 40 53 20 50 14




AR RIIZ R

o=l ek R E 20 EE R 25 28088 How TO SELECT CUTTING CONDITIONS FOR MILLING

OWHIEE (Ve) Cutting Speed

Vo= TIXDXxn
°~ 71000

(m/min)

Y

4£3% (n) Revolution

_‘IOOO><Vc( in™
= xp  min

Ve: HIHIERE m/min cutting speed

D: 7J1¥ mm Cutter diameter

n: #5& min'  RPM

n: REEZE 3.1416 Circumference ratio

O4AiERE (V) Feed rate
Vf=fzxzXn (mm/min)

FUJ#HS (fz) Feed rate per tooth

Vf
ZXn

¢
=
=
-
=
)

it
7]
&2

fz= (mm/tooth)

Vf: #4513RE m/min Feed rate

Z: J1# Number of flutes

n: ¥3%F min  RPM

fz: BJIHL mm/tooth feed per tooth

OfIAtiE (Te)

TCZﬁ (min)

Tc: ANTAFE min cutting time
Vf: B ITIEA#HAIRE

Feed rate per minute of table

L: ETEERFEAKE (THKE +%IIER) m
Overall table feed length(workpiece length+grinder dia.

= Ne: YIHEIENST kw ap: HIEIEE  mm
OIAIEF) (Ne) Feed rate Cutting power (horsepower) Cutting depth
Ne= apxaexVfxKs ) ae: HIHITEE mm Vf: HARERE mm/min
e= 60x106x M Cutting with Feed rate
n: HAHZE (0.6-0.8) Ks: ELEIBIBRST  ke/mm2

Mechanical effciency Relative cutting resistance

(BB T Refer to the table below)

KS (EEH1EIPEFI) Specific cutting resistance

WHI{R5RE T ET)ARIELETEIRA (N/mm2) ks
I#Mﬁ_ (N/mmz) R bERE Ks:Specific cutting resistance (N/mm?2) for feed tooth

AR (N/xrr:ls;;%itﬁ:f;:ess 0.1mm/tooth |0.2mm/tooth | 0.3mm/tooth | 0.4mm/tooth [ 0.6mm/tooth

T 520 2200 1950 1820 1700 1580

Medi B 620 1980 1800 1730 1600 1570

ol 720 2520 2200 2040 1850 1740

TEW 670 1980 1800 1730 1700 1600

Tool steels 770 2030 1800 1750 1700 1580

J— 770 2300 2000 1880 1750 1660

Chrome manganese steels 630 2750 2300 2060 1800 1780

— 730 2540 2250 2140 2000 1800

Chrome molybdenum steels 600 2180 2000 1860 1800 1670

o 940 2000 1800 1680 1600 1500

Nickel chrome molybdenum steels 352HB 2100 1900 1760 1700 1530

caciil 520 2800 2500 2320 2200 2040

e 46HRC 3000 2700 2500 2400 2200

Moeh HUNES s 360 2180 2000 1750 1600 1470

- 200HB 1750 1400 1240 1050 970

Yello%gcﬁipper 500 1150 950 800 700 630

AnE 160 580 480 400 350 320

(Al-Mg) Light Alloy (Al-Mg)
BEesE
(ALSI) Lizht Alloy (ALS) 200 700 600 490 450 390




12455 7JF (UNUNC UNF UNEF UNS) [ e e s =

TR TIARAR I ESE
Insert Grade Tool Shape Cutting Condition
c
(R @
{Countermeasurs) c c '5°-
O AR . :ﬁ c a o E 2 |a 2 |n E
..v%%;ffectlve cw|SA|S | |2 s s s (=207 |» 513 |3 |= |5
: AHE AN ER N R R R E I EN A T
Effective 59| o= | 5/ |8 | | 3ok (Ba | sm | S |22 | oy |8 E 05 | BE | Ry | S| S
v: BRER S| 232 %8| 2w 2% | 55| 2 |8k | SH | 3@ | T | 2y 2% 2| 2 | B
H = aﬂ 2 [ I =R O 2 ] o Jg 2, 2{9 :p"| ml& :| ;,"t}] m;g
Not Effective ST | Gy BE f= | DB O | =I5 | 3711 80 | oip | 27) |87 | S8 | nes | 58! | 2 | 2ke
T:oMEm. A T ae |5 wit| o8 | SR | 2R | 5K 3R B 2%y 0B | B8 |0 ® IR | 2R
Increase,Make it Large 1 1] EoH|2 |3 |5 |5 |2 CE|2 (9 wig 2™ | 3E (=" (B
: g S EHIE @ (& |3 [57|E = [3 |5 [2 |E |
LR R o [P |® > |8 [P |a |7 2 |2 [S |& |3
Reduce,Make it Small hiad e % s a 7 |3 Q.
3 % & 5 )
&

TSR ER
(fmm)

Abraded Relief

Surface (Fland)

HiT)EE
(B5)

Abraded Rake

Surface
(Crater)

O O

<@
[
i

EhEME
EES
Shoch Chipping

Batk
S
Welding Chipping

<0
-

Thermal Crack

<@

ORPRE

BIILE Arriiriir”” o1 |1 - te|e
F?nishSurface _ O lleo|® - Ylel ||
Eizh
Chattering fif(if’ffffa ? ; ; ? ? ? ?
e —
BHRIGOER

N L T e | 0
Edge Chipping o o
sprcnosos Vle|e o | 17]°




